1.

R&ETALN 1R7AENN EBiE BE 01

RDOJFEAZBT. (SHh30®, AfKs50#, Bik15208, CHh247)
1) z+2=9 (2) 2-3=8
(3) x-15=40 (4)  —54+x=-19
(B5) 0=11-=z (6) Tx—3=06x+2
(1) —dx+19= bz +17 (8)  45—9x =27 — 10z
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2. ROFGEAEMBT. (SH30F, Afks508, Bf14320F, C#k24)

1) 24+4=9 (2 z-7=8

(3) x-25=45 4)  —T+ax=-22

(5) 0=39—x (6) bSx—T=4dr+4

(1) —8x+13=—92+27 (8) 30—1lz=13—12z
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1.

R&ETALN 1R7AENN EBiE BE 01

ROFRERXZRT. (SH30F, AR08, BiK13208, CHk27)
*xBE =, ORWAICBETZ L, FELEE (-11F)

RS

x DHII/AN, BFI3HANEIET 5.

v THEAZBT) LSbhks, BT e =~ &EBFZB 2 L.

(1) z+42=9

(3) x—-15=40

rz—15 = 40
x = 40415 <4 + 15
x = 55
(5) 0=11—-=x
0 11—x
4 = 11 il + x
T = 11

(7) —4x+19=—bx+17

—4x+19 = —5x+ 17
—4x+5r = +17—19
x = -2

BB ETHEATH 2.

(2) T—3=
r—3 = 8
T = 843 M3 + 3
= 11
(4)  —5+x=-19
—54+2 = -19
x = -1945 il + 5
x = —-14
(6) Tx —3=06x+2
xr—3 = 6x+2
Tr—6x +243
x = 5

(8) 45—9x =27— 10z

45 -9 = 27—10x
—924+10x = 27—45
x = —18
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2. ROFGEAEMBT. (SH30F, Afks508, Bf14320F, C#k24)

(1) r+4=9 (2) r—T7=8
z+4 = 9 r—7 = 8
x = 9—4 i — 4 T = 847 <47
T = 5 x 15
(3) z-25=45 (4) —T+z=-22
r—25 = 45 —T4+zx = =22
x = 45425 < 425 x = —2247 <A 47
(5) 0=39—-=x (6) Sr—T7T=4x+4
0 = 39—=x bx—T7 = 4dx+4
4+ = 39 < + z Se—4x = 4447
T = 39 x = 11
(1)  —8xr+13=—-9x+27 (8 30—1lz=13—12z
—8&xr+13 = —9x+ 27 30 — 11z = 13—12x
—8r+9x = +27—13 —11lx+122 = 13—30
T = 14 T = =17
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